normalized X2

< X2/ ndf >

< X2/ ndf >

[ normalized x? probability |

0.12f--+---
107 [
0.1
1072E N
3 0.08
= [
107E 0.06f
-4
10 E 0.04
107 0.02
Entries
Mean
100y o 10
T
! @ 1
L I R S A S SO S E 3 I
0 2 4 6 8 10 12 14 16 18 20 0 010203040506070809 1
2 Prob(x?)
e DO _OTTgTAl STED: TIO0U_ETaIperospy
— D 7pgxelCP‘ETemp1ﬁPe sxeén? pFlOO etalp6to2)
w— DOQM”pixelCPETemplateCutChiSquarel0”step2_ pt1000_etalp6to2p0
wmes DOM_pixelCPETemplateCutChiSquarel5_step2__pt1000_etalp6to2p0
s DOM”pixelCPETemplateCutChiSquare20_step2__pt1000_etalp6to2p0
D pixelCPETemplateCutChiSquare30_step2__pt1000_etalp6to2p0
2.4F
2.2F-
2F
1.8F-
1.6F
1.4F-
1.2F-
-
0.8F-
0.6fF-
e R | ||
0.95 N : N N
-3 -2 -1 0 1 2 3
n
5 T A
E : : : 5
4.5F - Tttt STttt Tttt E
E : : : <
4 v E
5E 3
3 E
5 E

Ratio

1072

1 -1
AR(track, jet?



	Contents
	Page 1


